
PHILIPS PAN

#10-32X5/8 PHILIPS FLAT HEAD

#10-32X1/2 PHILIPS PAN HEAD

#10-32X3/8 PHILIPS PAN HEAD MACHINE SCREW

CHASSIS TRAK IDENTIFICATION LABEL LOCATED
ON THE BACK SIDE OF STATIONARY SECTION

#10-32X3/8 PHILIPS PAN HEAD MACHINE SCREW

#10-32X1/2 PHILIPS PAN HEAD

#10-32X1/2 PHILIPS PAN HEAD MACHINE SCREW

#10-32X1/2 PHILIPS FLAT HEAD MACHINE SCREW

#10-32X3/8 PHILIPS PAN HEAD MACHINE SCREW

.31 CLEARANCE REQUIRED BEHIND STATIONARY
SECTION TO ALLOW LOCK BUTTON TO RELEASE

INST1700-A


